32

17




km?

/kn?
/
kg/
t/
t/
/
15 3 31
2004
11
/12h / /12h
2004




14




R2




km?

/kn?
/
kg/
15 3 31
11
/12h /

2004

/12h

2004




R2

0.1




66 R2 0.28
R2 0.16
t
LOG ( /km2) -113
LOG (Km2) -112
LOG( )y / -1.05
LOG( (kg/ / 1.34
0.41
(t/ ) 2.97
(t/ ) 0.67
(7)) 1.89
(7)) 0.55
134 R2 0.14
R2 0.14
t
(v ) 470
R2
1
t
0 1
1 0
0 0

R2



22 R2 0.68
R2 0.45
t
LOG /km2) 0.78
LOG( ) -0.98
LOG (Km2) 0.30
LOG( (kg/ / -0.17
0.34
) 2.60
t ) -141
( /) -0.71
( 7 ) 1.16
51 R2 0.13
R2 0.11
t
(- 2.66
R2
1
t
0
0 1
1 0
0 0

R2



432 R2 007
R2 0.06
t
LOG ( /km2) -0.72
LOG( ) [/ -0.44
LOG (Km2) -2.55
LOG( (kg/ / -2.42
-3.83
439 R2 0.07
R2 0.06
t
LOG (Km2) -2.43
LOG( (ka/ / -2.64
-3.88
R2
1
t
0 1

R2



254 R2 013
R2 0.11
t
-0.27
181
LOG( -1.72
LOG (Km2) 0.27
LOG( (kg/ / -3.90
-343
276 R2 0.05
R2 0.05
t
LOG( (ke/ / -381
-343
R2
1
t
0 1
1 0
0 0
0 1

R2
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